MASTER OF COMMERCE (M. COM)
First Year- Second Semester

Advanced Statistical Analysis

Note: -Attempt all questions.

Q.1

Q.2

Q.3

Q.4

Q5

Q.6

The odds against a Solving A Sum are 7:6 and The odds in favour of B Solving The
Some are 11:8 , What is The Probability That The sum Will be Solved if both of
Them Try it ?
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Explain The Conditions under Witch binomial Distribution is obtained , Giving
Example . obtain The Mean Variance of This Distribution .
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Why is Sampling Necessary in Statistical investigation Explain The Important
Method on Sampling Commonly used .
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Define and Distinguish Between Primary and Secondary Data Illustrate Your answer
With Examples.
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Explain Briefly The Technique of analysis Variance .
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A Sample analysis of Examination Result of 500 Students Was Made . it Was Fund
That out of 500 Students , 220 Students Had Failed , 170 Lad Second Third Class . are
These Figures commensurate With The General examination Result Which is The Ratio
of 4:3:2:1 For The Various categories Respectively ?
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Q.7

Q8

Q.9

Q.10

Describe Briefly any Three Usefulness of Interpolation and extrapolation in Statistical
Studies.
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Define association of attributes . How Would you Calculate it ?
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Explain The Concept of Regression. How Does it Differ From Correlation.
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Write Short Note :- fére fewoft forRay —

1. Decision Environment (o1 areraxon)

2. Decision Tree Diagram (o7 — ge1 =)



